Hchwprk G SoLuiopns

S e

L 4 |
@ Yitetggz=0 5 Fterta=0 & (450 Fa -3, hore

¢ A = a4 gre®

i Z S
1 (v Y +2\7’+Sa =0 D Y I AS=2 3 . ‘293\/2"‘("""5
2

r= -2+ J -6

2
-k £
y(t) = Ge os(24) + cpe” s»\(2+.)

@Yy eyt ragee

9(B)=e y(g) -2

ki
T +2 #2 = © D =2 -21‘m g =

-
[t

¢ C-'ka,‘ (k_) +C7,C'bsl'~(’b)

Y&

-
Y = c,c'h(-ma:) ~smk) + ¢ € ( —sinlt) +cosl®))

-1
Y -7

Ué_ﬂ_‘? = 2 = C,e \f_z. - (e TZ’.E = 2.

= F
I <
&(({") = ~2 =) ¢ e l’=~2,
m
¢ = Vzet 2= {ze

o = Jze (& -n./ﬂcosa;) +iz cn[f_T%)sau(h)

2(b ¥
( U +L+y’ Ty s y Y-h=2 @'(—l) 2
P Y ryze D (ri-l)?' = , = -2 e

~2k
JE) = e T pg ETHE

-2t
D) = -2 ke, (1-am)y



Plltj M mihal Condthons

2}('!):2’ }j'(")al = C'gz..czelzz o o a0
~2¢c* t36 =1 .. €W

'2‘("" +<l‘"> = 2-C|Ct -2Cy e = u

—-2.C|c1 +3cpet = |

?13 i () Cre* - (5—62)67“ = 2

u
[#] L,
J +by -e - ar®+br =0 B Y'(qr+b) =0

r‘=°) = "‘L L0 bLCA-IAR_ a'L>o-
[}

Hhuedo
i 5k

(k) = ce” + e

=< +Cz€—
Yer=y, Yoz Catle oo o,

Y = ca (-.g) e”

21'(0)=z\1°‘ > Cz("'

oo
s
F\ﬁ("
128
=
¥
&
U]
X’
°h
i
LN
~——"

vﬂlg mbs (II)

Yo = G 4¢; 3 ¢y =2Ys-Cs ) Cl = Zj‘* + 3‘/4>
o

k

D)0

W" osnclude ‘H\a{: (7(_1__) . (yo " -92’_i>
b

¢- %1 e
b

Dodre I /a(t)) = Yt Yh

tdo




{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

